[ AR mE [ FRE] BRES S R X=%
EnEBk M75 3m71 +1.6 14 | 1119 g Z2E 78| 426 #wZNIREHE
E S Bk M65 DNS 14 | 0101 B & 67 426 |#wElIvRHR
FENE Bk M65 4m45 +34 | 12 | 0836 IS, 67 426 |mZ=)IRRHES
FENE Bk M60 2m60 +1.8 | 14 | 1449 /NS S 63 426 |mZ=)IREHES
E g Bk M60 3m34 +1.7| 14 | 1573 AR HETE 62 426 |mZIRRBs
ENE Bk M60 DNS 14 | 1434 HiR B 62 426 |mZ=)IRRHES
E g Bk M60 5m06 +1.8| 14 | 1248 IR FAL 60 426 @wENTRHBS
E NS Bk M60 3m72 +26 13 | 3441 IKUE 1= 60 | 4.26 |WZ)IvEHR
FENE Bk M60 DNS 14 | 1303 —F HiE 60| 426 #wENTEHBE
E S Bk M55 4m66 +1.8 14 | 1033 FOH A 55 426 |#=lIviEgs
E S Bk M50 5m00 +1.7| 14 | 1566 fE7 BE 53 426 |#mlIvEgs
E S Bk M50 5m68 +2.8| 13 | 3112 LR 4] 53| 426 |wZliwisis
S Bk M50 4m59 +1.4 08 | 0545 NS 52| 426 |#wE)IvEHR
Nk M50 4m65 +2.7| 13 | 1103 fEEF SER 52 426 wmENRERS
FENE Bk M50 5m85 +3.1| 14 | 0388 HA KR |52 426 #AZNTEHS
S Bk M50 4m79 +27 13 | 0801 A IESL 50| 426 @wENvR$is
FENE Bk M50 DNS 14 | 1242 B BKt 50 426 |mZlIRREs
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EnEBk M45 4m68 +35 13 | 0956 G — 49| 426 #EIvRss
i) M45 4m69 |—3.0 14 1664 BB 47| 426 | @wZli<uiis
FEig M45 5m46 +3.4 14 | 1517 FEE = 47 | 426 |#ZNTEES
FEiE M40 4m66 |+2.3 14 | 1397 gk 43| 426  #ElIREHs
Eg M40 | 5m71 |+3.2 FEVFERE 42 426 |wmEIvERS
EIE M40 DNS 14 | 1628 FHE —/A 41 426 |#Z=IvEEs
FEiE M40 6ml19 +2.5 14 | 1409 PRIE 40| 426  #ElIRiEHs
FEIE M35 5m58 | +2.5 12 | 1140 K& A 139 426 #EIvnHis
EIE M35 4m64 |+1.7 14 | 1562 A7 A (39 426 |[mElIvEEs
FEig M35 5mb9 [+2.2 YRH FHHE 39 426 #wENTEHS
FEig M35 4m59 +2.6 14 @ 1609 B BE 38 426 #wENTEHS
ENE M35 DNS 21 | 1391 KE T 38 426 #Z)IvEHs
EnEBk M35 DNS 14 | 1600 PHH VS 36 426 mE)IRERES
ENE Bk M35 5m10 |+2.6 14 | 1432 A BEE (35 426 |[mEIvEEs
EnEBk W70 | 2m84 +1.7 14 | 1557 BER 7 | 74 426 wEIIREES
E Mg B W70 DNS 12 | 0031 W OET 72| 426 #EIIvRHs
EIE W50 DNS 14 | 1616 BA T 51| 426  #Z)IviHs
EnEBk W45 | 3m94 | +0.3| 14 1003 EHDHSH | 48] 426 |w#EIvEEs
ENE Bk W30 4mb55 | +2.5 14 | 1541 )1 BAnE 30| 426 |mEliwR$is




